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M- S2A(SH) - MRAL HAS Ofl &F 2K &8 e
205,969 196,373 9,59
11,230 7,230 4,000
e e 8,011 4,011 4,000
XNgA g =20 =X 4,000 0 4,000
201 LEr2HH| 2,800 0 2,800
01 At222/H 2,800 0 2,800
Oet4=2Y| 2,800 0 2,800
—NLAHELR =8 HALPE(EH)PLY 198,000% * 24 396 0 3%
—NLAHELR =8 HALPE(EY)PY 363,0008 * 14 363 0 363
— XA &4 0CR DXIA P& 55,0002 * 108fA 550 0 550
—HEINAHMLHAIYNMER HEE 2 502 = 16,8200K 841 0 841
—Hgx g2 M 1302 = 5,00004 650 0 650
202 04l 1,200 0 1,200
01 2UHoidl 1,200 0 1,200
O=Uoil 1,200 0 1,200
— 204 50,0002 * 2% » 42 * 32 1,200 0 1,200
RIS 11,053 8,385 2,668
22| 11,053 8,385 2,668
EXY SN 2 11,053 8,385 2,668
201 gty 11,053 8,385 2,668
02 2329 11,053 8,385 2,668
03222 2 MAl 11,053 8,385 2,668
—HE2 MHHRFIU L Ul RAHI(FS 1,900 * 2,7002 ) A 4,788,0002 4,788 3,500 1,288
—AZXER NEFSRU L HH RAHI(ZS 1,908 * 2,7004 ) A 5,130,000 5,130 3,750 1,380
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a2 11,693 8,765 2,928
Haze 11,693 8,765 2,928
Aol Heledg 11,693 8,765 2,928
201 Letd| 11,333 8,405 2,928
02 232944l 9,848 6,920 2,928
O332= % HMA 9,848 6,920 2,928
—&dAXE |XHl 460,000& « 104 » 122 704,000& * 1CH = 12& 8,448 5,520 2,928




